w 5
— Oﬁ .
()
(@)
2471 99,09 | PROEXTONANY ZIZD DOYMIDUALNY
25.23 99.09 | PROEXTONANY ZAAD NOYWDUALIY
41.64 99,06 | PROEKTONANY ZIAD NDYWIDUALNY
60.62 S| 0003 | PROEKTONAY UMDV
86.7 98,98 PLP
c—f O 98.9 08 94 86T
R |
— 133 067 KLP
o 3+213.3
=)
50.2 09,66 | PROETONANY ZAZD NDYWIDUALNY
70.92 09.54 | PROEKTONANY ZAZD NDYWIDUALNY
88.64 S | 99,44 | PROEKTONANYZID NOYWOUALY
w
S wammEY 0836 PLP
S 3+003.85
© 202 9822 frisp| 9831
26.96 £ et | 9833 | PROEKONAY KD ROV
36.55 98,36 KE P
B 3+036.55
59.86 | ogag | PROEKTONAN LADNDIHDULNY
7797 g 08 57 | PROEKTONANY ZAZD NOYWIDUALNY
0O 90.85 98.64 PY P
+ - 98,64 :% 08 66 3+090.85
S 9.5 TR | w863 KLP
) 10.24 98.69 | PROVEKTOWANY ZJAZD INDYWDUALNY 3+409.15
303 W 98.53 | PROIETONANY ZAZD NOYWIDUALNY
=)
56.2 08,34 | PROIETONANY ZAZD NOYWIDUALNY
W 9494 S | gp04 | PROETONAI LDNOTIOULY
+ (&3]
83 Q 9.75 PROJEKTONANY ZIAD INDYWIDUALNY//
o 979 | PP
133 07.78 |35538| 0740 | 35139
2585 " 9T | OB ZADIONOALY  Ke P
321 9763 3+532.1
5691 | = ) | g09 | PROEKTONANY ZADNDHNDUALNY
5960| = = [ 9703
64.78 =069
775 96.65 PLP
3+577.5
- 90.0 9633 [frisr| 9646
t -0 ] 942 | PROEKOIM LA NOPDIAYY,
o) 25 96.42 3+602.5
- _
O X
S
705 96.65 PLP
7165 | PROJEKTONANY ZIAZD |NDYQ|DUALN\3+670-50
825 | | %9661 96.66 | KONEC NAWERZCHN ASFALTONE)
w 3 06,62 KEP
+ 045 3+694.56
.
- —
o ~
34,84 %3 | .36 | PROEKTONANY ZID NDYWOUALY
o1 | /5 0f
c.f : 9.0
&S =
(@)
219 95.84 05 8
W
e _
5 I
64.04| | 95,56
7265 95,51 PLP
794 95.39 |\BIIED| 9548 3+872.65
86.15 338 | 9546 KLP
c.f O ; 3+886.15
© 5 T
Q =
- 18.77] o S| 9544 PLP
284 | 35| 9543 |gipsn| %541 8.7
3802| ¢ T e KLP
— 3+938.02
59.4 %9 = 0516
3
007 | 95,07
79.9 94.82 04.98
o 198 0455 | | | aas
38.43 n 94.5 PYP
X 4+038.43
=)
64.0 04,24 94,35
89.57 94.31 KLP
-E 08.02 0493 " 4+089.57
(@)
o
59.8 94.24 | 9438
67.83 § 94.39
2 -
N
(@)
(@)
44.8 9438 |— 04.46
S
79.89 § 04,49 | PROEKTONANY ZAZD NDYIDUALNY
3
2 -
&S
o
25.57 94.53 PLP
4+32557
38.9 94.5 ELTER 94 .54
4838 | FRE5| 0456 e P
5223 9457 4+352.23
834 | 5| 9465 "
'E 001| | 94,66
-h m
o &L
O S
577 04.75 04 80
v -
o) o
S <
© =
3
34.2 94.85 04.97
89.0 95.10 PLP
v 95,07 \ 05,11 10890
+ O _Z8iEa)
o 1.0 95.40 KLP
O 4+611.0
=)
55.1 94.88 95.02
s .
~l f 9 =
@) nv) Z g WO
o 3 Rim 8 &
s o =L R%
3 z 2B g?
5| |3 |0
=~ Q @ O
2=
Py & c):
0 B @
IRrESE: 3
o > |5 |<C X
4 818 |7 ¢ o
A ~| &€ 8 &
o £330 2
?{ CE) 133 z |3
Z z
- NIPE R
PN — w =
= R 2 2
g |3 2 3
L = o s%—’ =
= g | 8
o
N
X
=




